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ORGANIC PROBLEMS  

1, Complete the following reaction. 

 

CH3 – CHO  
𝐍𝐇𝟐𝐎𝐇   
→       A  

    𝐏𝟐𝐎𝟓    
→        B 

CH3 – CHO  
NH2OH   
→        CH3 – CH = N - OH  

    P2O5    
→        CH3 – CN 

Acetaldehyde                  Acetaldoxime  (A)                    Methylcyanide  (B) 

 

2, Identify ‘A’ and ‘B’ 

                                   H2O / H+          A 

 

CH3 – CH = CH2 

 

                                    B2H6                 B 

                                 H2O2 / OH- 

                               H2O / H+ 

CH3 – CH = CH2                                      CH3 – CH – CH3 

                                                                         Isopropyl alcohol (A)    

                                                                OH 

                                 B2H6   

CH3 – CH = CH2                                       CH3 – CH2 – CH2 – OH  

                                  H2O2 / OH-                              n-Propyl alcohol (B)           

3, Identify ‘A’ and ‘B’ 

                               Zn 

                                                 A 

C6H5 – OH 

                           NaOH 

                                                 B 

                          C6H5COCl 

 

C6H5 – OH   + Zn   ⎯→  C6H6 + ZnO  

Benzene (A) 

 

C6H5 – OH   + C6H5 –CO – Cl   
 NaOH  
→     C6H5 – CO – O – C6H5 

                                                                Phenyl benzoate (B) 

 

4, Identify ‘A’ to ‘D’ in the following sequence of 

reactions. 

C2H6O  
(𝐎)/ 𝐊𝟐𝐂𝐫𝟐𝐎𝟕  
→           C2H4O2 

   𝐂𝐚(𝐎𝐇)𝟐
→          

(A)                                 (B)              

                                             C4H6O4Ca 

                                                             (C)         

                                                   Distillation  

                                            C3H6O 

                                                  (D) 

CH3CHO  
(O)/ K2Cr2O7  
→           CH3 – COOH 

   Ca(OH)2
→         (CH3 – COO)2Ca 

   (A)                                            (B)                                               (C) 

                                                                                                   Distillation 

 

                                                                                             CH3 – CO –CH3 

                                                                                                                                                     (D) 

 

A – Acetaldehyde ; B – Acetic acid ; C – Calcium acetate & D -  Acetone 

5, Complete the following reaction. 

                              Sn  / HCl 

                                                        A 

                             Zn / NH4Cl 

C6H5 – NO2                                     B 

                              Zn / NaOH 

                                                        C    

C6H5 – NO2  
  Sn / HCl 
→                    C6H5 – NH2     Aniline  (A) 

C6H5 – NO2    
  Zn / NH4Cl 
→                C6H5 – NH – OH  Phenyl hydroxylamine (B) 

C6H5 – NO2     
  Zn / NaOH 
→              C6H5 – NH – NH – C6H5 Hydroazobenzene (C)          
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6, Predict ‘A’ to ‘E’ for the following reactions. 

             CH3Cl          Conc HNO3 

C6H6                  A                             B 

             AlCl3            Conc.H2SO4 

 

                                                               Sn/HCl 

         CuCN              NaNO2/HCl 

    E                  D                              C 

 

 

 

                                        CH3                                                   CH3                                                    CH3                 

                  CH3Cl                       Conc HNO3                   NO2  Sn/HCl                   NH2           

                          

                  AlCl3                                    Conc.H2SO4 

 Benzene                     Toluene                          o-Nitro toluene                o-Amino toluene 

                                       (A)                                    (B)                                     (C) 

                                    CH3                                                                                CH3                                                                                                  

                                                 CN                          CuCN                                         N = N - Cl                             

                                                                                                                                                                       NaNO2/HCl    

 

                       o-Cyano toluene                                o-Methyl benzene diazonium chloride 

                       (E)                                                         (D)                                              

7, Identify  ‘A’, ‘B’ & ‘C’ 

                       Zn – Hg /HCl  

C6H5 – CHO                            A 

                                                   OH-/KMnO4 

                        NaOH / CaO             

        C                                       B             

                        Zn – Hg /HCl                            OH- / KMnO4 

C6H5 – CHO                             C6H5 – CH3                                       C6H5 – COOH 

Benzaldehyde                            Toluene (A)                                                     Benzoic acid (B) 

                                                                                                   NaOH / CaO  

                                                                             C6H6 

                                                                                                                  Benzene (C) 

8, Complete the following reaction. 

                         SOCl2         Pd / BaSO4      

Ethanoic acid                 A                       B 

                       

                                                            NaOH 

                                                    C    

                        + SOCl2                                + Pd / BaSO4 

CH3 – COOH  ⎯⎯⎯→  CH3 – CO – Cl     ⎯⎯⎯⎯→  CH3 – CHO 

Ethanoic acid                     Acetyl chloride (A)                            Acetaldehyde (B) 

 

                                                                                                    + NaOH 

 

                                                                     CH3 – CH(OH) – CH2 – CHO 

                                                                                  Aldol (C) 

9, Identify ‘A’ and ‘B’ for the following reaction. 

C6H5 – NO2  
𝐒𝐧  /  𝐇𝐂𝐥 
→       A  

𝐁𝐫𝟐  / 𝐇𝟐𝐎
→        B 

       NO2                           NH2                                             NH2                                      

                                                                                 Br              Br   

                  
𝐒𝐧  /  𝐇𝐂𝐥 
→                         

𝐁𝐫𝟐  / 𝐇𝟐𝐎
→               

                                                                                               

 Nitrobenzene            Aniline (A)                                         Br     2,4,6-Tribromoaniline (B) 

10, Identify ‘A’ and ‘B’ 

C6H5N2Cl     
𝐂𝐮𝐂𝐍 
→     A  

 𝐇𝟐𝐎 / 𝐇
+

→        B 

C6H5N2Cl     
CuCN 
→     C6H5 – CN   

 H2O / H
+

→        C6H5 – COOH  

                                Phenylcyanide (A)             Benzoic acid (B) 

11, Identify ‘A’ and ‘B’ 

C6H5 – COOH 
  𝐏𝐂𝐥𝟓   
→      A  

 𝐂𝟔𝐇𝟔  / 𝐀𝐧𝐡𝐲𝐝.𝐀𝐥𝐂𝐥𝟑 
→                 B 

C6H5 – COOH 
  PCl5   
→      C6H5 – COCl  

 C6H6  / Anhyd.AlCl3 
→                 C6H5 – CO – C6H5  

  Benzoic acid             Benzoyl chloride (A)                        Benzophenone (B) 
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12, Identify ‘A’ and ‘B’ 

C6H5 – CONH2  
𝐁𝐫𝟐  / 𝐍𝐚𝐎𝐇 
→          A  

 𝐍𝐚𝐍𝐎𝟐  / 𝐇𝐂𝐥
→           B 

C6H5 – CONH2  
Br2  / NaOH 
→          C6H5 –NH2    

 NaNO2  / HCl
→           C6H5 –N = N – Cl  

 Benzamide                              Aniline  (A)                          Benzene diazonium chloride (B)                                                

13, Identify ‘A’, ‘B’ and ‘C’ 

C6H5 – NO2  
𝐅𝐞  / 𝐇𝐂𝐥 
→       A  

 𝐇𝐍𝐎𝟐  
→      B 

 𝐂𝟔𝐇𝟓𝐎𝐇  
→        C 

      NO2                            NH2                              N = N – Cl                                    

                                                                                   

                  
Fe  /  HCl 
→                         

 HNO2  
→                      

 C6H5OH  
→                       – N = N –            –OH   

                                                                                        

 Nitrobenzene            Aniline (A)           Benzene diazonium               p-Hydroxy azobenzene (C)                                                                 

                                                                      chloride (B)                        

14, Identify ‘A’, ‘B’ and ‘C’ 

C6H5 – OH 
𝐙𝐧 
→  A  

 𝐂𝐇𝟑𝐂𝐥  / 𝐀𝐥𝐂𝐥𝟑 
→            B  

 (𝐎) / 𝐊𝐌𝐧𝐎𝟒 
→            

C6H5 – OH 
Zn 
→  C6H6  

 CH3Cl  / AlCl3 
→            C6H5 – CH3   

 (o) / KMnO4 
→           C6H5 – COOH 

Phenol            Benzene (A)                Toluene (B)                             Benzoic acid (C) 

15, Complete the reaction. 

                              CH2 – NH2 

                                    

                                          Trace H+ 

             = O +                                      ? 

 

                           

                                                                                                         Trace H+      

                             = O  +  H2N – CH2 –                                                   = N – CH2 –  

 

                                                                                                Schiff’s base 

16, Complete the reaction. 

C6H5 – NH2   +  C6H5 – CHO  
 𝐇+ 
→      ? 

C6H5 – CH = O  + H2N–C6H5   
 H+ 
→      C6H5 – CH = N–C6H5   + H2O 

                                                              Benzal aniline (Schiff’s base) 

17, Complete the reaction. 

C6H5 – NH2   +  C6H5 – COCl  
 𝐏𝐲𝐫𝐢𝐝𝐢𝐧𝐞 
→          ? 

C6H5 – CO – Cl  + H2N–C6H5   
 𝐏𝐲𝐫𝐢𝐝𝐢𝐧𝐞 
→          C6H5 – CO – HN–C6H5   + H2O 

                                                                        N-Phenyl benzamide 

18,  Identify Compounds A, B and C in the 

following sequence of reaction.  

CH3CH2NC 
HgO
→   A  

H2O
→    B 

NaNO2−HCl / H2O
→                C 

CH3CH2NC   
𝐻gO
→   CH3CH2 –N = C = O  

H2O
→   CH3CH2 –NH2  

NaNO2−HCl / H2O
→               CH3CH2 –OH 

                                 Ethyl isocyanate (A)         Ethyl amine (B)                                  Ethyl alcohol (C) 

19, Identify ‘A’, ‘B’ and ‘C’ 

HO                            OH 

                                       SOCl2        NH3 

                                                 A             B     

         O               O                                                               

                                                                       LiAlH4 

                                                             C 

HO                            OH                  Cl                              Cl                   H2N                           NH2 

                                         SOCl2                                               NH3                                               

                                                                                                                                                                                                 

         O               O                                    O                 O                                   O                 O    

                                                              Glycocyl chloride (A)                     Glutamide (B)      LiAlH4 

                                                                                                                     

                                                                                                            H2N                             NH2                                                                            

                                                                                                                                                                                         

                                                                                                              Pentan-1,5-diamine      (C) 
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20, Identify ‘A’, ‘B’ and ‘C’ 

  

                                 –N(CH3)2 

                                                        A 

                          CH3 –        – OH 

C6H5 – N2Cl      pH ( 9 – 10)         B 

                               

                                     – NH2      

                                                        C 

                           pH ( 4- 5)          

 

 

C6H5 – N2Cl  +             –N(CH3)2  ⎯→            – N = N–         –N(CH3)2   

                          N,N-dimethyl aniline               p -N,N-dimethyl amino azobenzene (A) 

 

C6H5 – N2Cl  +  CH3 –        – OH   ⎯→      CH3 –        – OH 

                             p-cresol                                              N = N –  

                                                                               2-Phenyl azo-4-methylphenol (B) 

 

C6H5 – N2Cl  +           –NH2    ⎯→              –N = N –       – NH2 

                                                              p- Amino azo benzene (C)                    

21, Identify ‘A’ and ‘B’  

 

 A  
𝐍𝐚−𝐇𝐠 / 𝐂𝟐𝐇𝟓𝐎𝐇
→                 CH3 – CH2NH2  

 B  
𝐍𝐚−𝐇𝐠 / 𝐂𝟐𝐇𝟓𝐎𝐇
→                 CH3 – NH– CH3 

      CH3 – CN   
Na−Hg / C2H5OH
→                 CH3 – CH2NH2  

Methyl cyanide (A) 

    CH3 – NC  
Na−Hg / C2H5OH
→                 CH3 – NH– CH3 

Methyl isocyanide (B) 

22, Identify ‘A’, ‘B’ and ‘C’ 

CH3CONH2 
𝐁𝐫𝟐  / 𝐍𝐚𝐎𝐇 
→         A  

 𝐍𝐚𝐍𝐎𝟐  / 𝐇𝐂𝐥
→           B 

                                                                      i) (O) 

                                                                      ii) NH3 

                                                                         C                                                            

CH3CONH2 
𝐁𝐫𝟐  / 𝐍𝐚𝐎𝐇 
→         CH3NH2  

 𝐍𝐚𝐍𝐎𝟐  / 𝐇𝐂𝐥
→           CH3OH 

𝐢) (𝐎) 
→       H-CHO  

𝐢𝐢) 𝐍𝐇𝟑 
→       (CH2)6N4 

 Acetamide                     Methyl amine (A)       Methyl alcohol (B)                        Urotropine (C) 

                                                                                                                              Hexamethylene tetramine 

23, Complete the reaction. 

 

              t-butylchloride           Cl2 

Anisole                             A                        B 

                 AlCl3                     FeCl3     

              –O–CH3  + (CH3)3C–Cl 
 𝐀𝐥𝐂𝐥𝟑 
→          (CH3)3C –          –O–CH3  

 𝐂𝐥𝟐  / 𝐅𝐞𝐂𝐥𝟑
→          

 Anisole                   t-Butylchloride        4-t-butyl-1-methoxy benzene (A) 

 

                                                                             (CH3)3  C –           –O–CH3  

                                                                                                           Cl 

                                                                        2-Chloro-4-t-butyl-1-methoxy benzene (B) 

24, Identify ‘A’, ‘B’ and ‘C’ 

                                                         
 𝐇𝟐𝐎 / 𝐇

+

→        B   

CH3 – CHO + HCN ⎯→ A  

                                                         
  𝐋𝐢𝐀𝐥𝐇𝟒 
→          C 

                                                     OH                                                  OH 

                                                                            H2O / H+                            

CH3 – CHO + HCN ⎯→ CH3 – CH – CN                              CH3 – CH – COOH 

Acetaldehyde            Acetaldehyde cyanohydrins (A)            Lactic acid (B) 

                                                                                           OH 

                                                                                             

                                                                                CH3 – CH – CH2 – NH2  1- Amino -2-propanol (C) 
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25, Complete the reaction. 

 
i) NaOH 

 ii) CO2 

 iii) H2O / H+                             

                                                              X            

C6H5 – OH       

                          CHCl3  / NaOH          

                                                              Y                      

 

C6H5 – OH   
𝐢) 𝐍𝐚𝐎𝐇       
→          C6H5 – ONa    

𝐢𝐢) 𝐂𝐎𝟐    
→                   - OH    

𝐢𝐢𝐢) 𝐇𝟐𝐎 /  𝐇
+
    

→                            - OH     

                                         Sodium phenoxide                    COONa                                     COOH 

                                                                               Sodium salicylate                             Salicylic acid (X) 

 

C6H5 – OH     
𝐢) 𝐂𝐇𝐂𝐥𝟑 /𝐍𝐚𝐎𝐇      
→                              – OH    

                                                                  CHO  Salicylaldehyde (Y)  

26, Identify ‘A’, ‘B’ and ‘C’ 

 

          Con.HNO3         Sn / HCl 

C6H6                  A                            B 

         Con.H2SO4 

 

                                                               NaNO2/HCl 

          

                                                        C 

                                         NO2                                                 NH2                                                          N = N - Cl                                          

                 Con.HNO3                  Sn/HCl                             NaNO2/HCl     

                          

                  Con.H2SO4 

 Benzene                     Nitro benzene                  Aniline                  Benzene daizonium chloride 

                                       (A)                                    (B)                                     (C) 

  

27, Identify ‘A’, ‘B’ and ‘C’ 

 

CH3 – COCl 
𝐏𝐝 / 𝐁𝐚𝐒𝐎𝟒       
→             A 

𝐍𝐚𝐎𝐇       
→       B  

  ∆   
→  C 

CH3 – COCl 
𝐏𝐝 / 𝐁𝐚𝐒𝐎𝟒       
→             CH3 – CHO   

𝐍𝐚𝐎𝐇       
→       CH3 – CH(OH) – CH2 – CHO  

  ∆   
→   

Acetyl chloride                    Acetaldehyde (A)         Aldol (B) (3 - Hydroxy butanal) 

                                                                                                            CH3 – CH = CH – CHO 

                                                                                                          Crotonaldehyde (C) (But - 2- enal)  

28, Identify ‘A’, ‘B’ and ‘C’ 

 

                          HCHO 

                                                   A 

                     CH3 – CHO 

 NH3                                           B 

                     C6H5-CHO 

                                                    C        

 6HCHO  +  4NH3    ⎯→   (CH2)6N4  + 6H2O 

  Formaldehyde                Hexamethylene tetramine (A) 

CH3 – CHO +  NH3    ⎯→  CH3 – CH = NH   

   Acetaldehyde                      Aldimine (B) 

 

3C6H5 – CHO + 2 NH3    ⎯→   C6H5 – CH = N  

  Benzaldehyde                                                        CH – C6H5   

                                                    C6H5 – CH = N          Hydrobenzamide (C) 

29, Complete the reaction. 

C2H6O 
   𝐂𝐮      
→     B  

 𝐍𝐇𝟐𝐍𝐇𝟐 / 𝐂𝟐𝐇𝟓𝐎𝐍𝐚   
→                   C   

(A)                                  

 

             

   

CH3–CH2–OH    
   𝐂𝐮      
→       CH3 – CHO     

 𝐍𝐇𝟐𝐍𝐇𝟐 / 𝐂𝟐𝐇𝟓𝐎𝐍𝐚   
→                      CH3 – CH3  

  Ethylalcohol (A)         Acetaldehyde (B)                                     Ethane (C)                                             
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30, Complete the reaction. 

 

 

                                    Zn  / Hg 

                                                           A 

CH3 – CO –CH3 

                                   Mg / Hg 

                                                           B 

                              Zn  / Hg 

CH3 – CO –CH3                                      CH3 – CH2 – CH3 

                                                                    Propane (A) 

 

                                                                   CH3   CH3 

                              Mg / Hg                                 

CH3 – CO –CH3                                          CH3 – C  –  C – CH3 

                                                                             

                                                                   OH   OH   2,3 dimethyl butane 2,3 – diol (B) 

                                                                                                   (pinacol)  

31, Complete the reaction. 

 

 

                                                  373 K 

                         HNO3                                 A 

C6H5 –NO2 

                          H2SO4            473K 

                                                                      B 

        NO2                                                                                              NO2 

 

                        + HNO3  +     H2SO4      

   𝟑𝟕𝟑 𝐊       
→                                        

                                                                                                                                       NO2     m-dinitro benzene (A)  

                                                                                                       (1,3-dinitro benzene)   

                                                                                                       

           NO2                                                                                               NO2 

 

                        + HNO3  +     H2SO4      

   𝟒𝟕𝟑 𝐊       
→                                        

                                                                                              O2N                             NO2     1,3,5-trinitro benzene (B) 

 

32, Identify ‘A’ and ‘B’ 

 

                  Anhydrous ZnCl2 

                                                         A 

  Glycol            Con H2SO4 

                                                         B 

CH2 – OH          Anhydrous ZnCl2         

                                                            CH3 – CHO    

CH2 – OH                                                                                 Acetaldehyde (A) 

 

   CH2 – OH        Con H2SO4                            CH2 – CH2  

2                                                        O                           O           

   CH2 – OH                                                CH2 – CH2                     1,4-dioxane (B) 

33, , Identify ‘A’ and ‘B’ 

                          HIO4 

                                                         A 

  Glycol                 PI3 

                                                         B 

CH2 – OH                  HIO4 

                                                          H – CHO     

CH2 – OH                                       Formaldehyde (A) 

 

 

   CH2 – OH              PI3                                         

                                                            CH2 = CH2                                    

   CH2 – OH                                     Ethene (B) / Ethylene 
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34, Complete the reaction. 

                                               413K 

                         H2SO4                                A 

C2H5 –OH 

                                              443K 

                                                                    B 

 

 C2H5 –OH  +     H2SO4        

    413K       
→         C2H5 – O – C2H5  Diethyl ether (A) 

 

C2H5 –OH  +     H2SO4        

     443K       
→          CH2 = CH2            Ethene (B) / Ethylene 

 

35, Identify ‘A’ and ‘B’ 

                                                 PCl5 

                                                                    A 

C2H5 – O – C2H5             dil. H2SO4 

                                                                    B 

C2H5 – O – C2H5  +  PCl5 ⎯→  2 C2H5 – Cl + POCl3 

                                                         Ethyl chloride (A) 

C2H5 – O – C2H5  +  dil. H2SO4  ⎯→  2 C2H5 – OH  

                                                               Ethyl alocohol (B) 

36, What will be the product (A, B and C)for the 

following reaction. 
                                             alc.KCN 

                                                                    A 

C6H5 – CHO                           NaOH 

                                                                    B  +  C 

C6H5 – CHO  + C6H5 – CHO  
  alc.KCN       
→             C6H5 – CH – C - C6H5 

                                                                                                                           

                                                                                   OH    O            Benzoin (A) 

 C6H5 – CHO  + C6H5 – CHO  
  NaOH     
→          C6H5 – CH2OH    +   C6H5 – COONa 

                                                                    Benzyl alcohol (B)      Sodium benzoate (C)  

37, Identify ‘A’ and ‘B’ 
                                           HI / red P   

                                                                    A 

CH3 – COOH                  Cl2 / red P 

                                                                    B 

CH3 – COOH   
  HI /  red P       
→               CH3 – CH3 

                                                      Ethane  (A)         

CH3 – COOH   
  Cl2 /  red P       
→              Cl – CH2 – COOH 

                                                             Mono chloro acetic acid (B) 

38, A and B are isomers. Identify ‘A’ and ‘B’ 

              A     
 𝐇𝟐𝐎 / 𝐇

+

→           CH3 – COOH  

              B     
 𝐇𝟐𝐎 / 𝐇

+

→           CH3 – CH2 –OH 

CH3 – CH2 – NO2             
 𝐇𝟐𝐎 / 𝐇

+

→           CH3 – COOH 

Nitroethane (A) 

CH3 – CH2 – O – N = O     
 𝐇𝟐𝐎 / 𝐇

+

→           CH3 – CH2 –OH 

Ethylnitrite (B) 

39, A and B are isomers. Identify ‘A’ and ‘B’ 

              A     
 𝐒𝐧 /  𝐇𝐂𝐥
→          CH3 – CH2 – NH2 

              B     
 𝐒𝐧 /  𝐇𝐂𝐥
→          CH3 – CH2 –OH 

CH3 – CH2 – NO2            
 𝐒𝐧 /  𝐇𝐂𝐥
→          CH3 – CH2 – NH2 

Nitroethane (A)                    

CH3 – CH2 – O – N = O   
 𝐒𝐧 /  𝐇𝐂𝐥
→          CH3 – CH2 –OH   

Ethylnitrite (B) 

40, Complete the following reaction. 

CH3 – Br 
    𝐍𝐚𝐍𝟑  
→         A   

    𝐋𝐢𝐀𝐥𝐇𝟒   
→            B + N2 

 

CH3 – Br 
    𝐍𝐚𝐍𝟑  
→         CH3 – N3   

    𝐋𝐢𝐀𝐥𝐇𝟒   
→            CH3 – NH2 + N2 

                                Methyl azide (A)            Methylamine (B)     
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41, Identify ‘A’ and ‘B’ 
                                           KCN   

                                                                        A 

CH3 – CH2 – Br          AgCN / C2H5OH 

                                                                        B 

CH3 – CH2 – Br   
    𝐊𝐂𝐍   
→           CH3 – CH2 – CN 

                                                            Ethyl cyanide (A)     

CH3 – CH2 – Br  
    𝐀𝐠𝐂𝐍 / 𝐂𝟐𝐇𝟓𝐎𝐇  
→               CH3 – CH2 –NC 

                                                            Ethyl isocyanide  (B)    

42, Identify ‘A’ and ‘B’ 
                                                NaNO2 / HCl   

                                                                              A 

CH3 – CH2 – NH2                 CHCl3 / KOH 

                                                                              B 

CH3 – CH2 – NH2   

    𝐍𝐚𝐍𝐎𝟐  / 𝐇𝐂𝐥   
→              CH3 – CH2 – OH 

                                                             Ethanol (or) Ethyl alcohol (A) 

 CH3 – CH2 – NH2   

    𝐂𝐇𝐂𝐥𝟑  / 𝐊𝐎𝐇  
→              CH3 – CH2 – NC 

                                                            Ethyl isocyanide  (B)         

43, Identify ‘A’ and ‘B’ 
                                                  C6H5OH   

                                                                              A 

           C6H5N2Cl                    C6H6 / NaOH 

                                                                              B 

 

 

               – N = N – Cl  +              – OH   ⎯→               – N = N –           – OH    

 

                                                                                                   p-Hydroxy azobenzene (A) 

               – N = N – Cl  +                 
  𝐊𝐎𝐇  
→                    –               +  HCl + N2   

 

                                                                        Biphenyl (B) 

44, Complete the reaction. 

 

 

 

                                   HNO3 / H2SO4 

                                                                      A 

C6H5 –COOH 

                                   Fuming H2SO4 

                                                                      B 

        COOH                                                                                        COOH       

 

                                      

   𝐂𝐨𝐧.𝐇𝐍𝐎𝟑 /𝐂𝐨𝐧.𝐇𝟐𝐒𝐎𝟒       
→                                                       

                                                                                                                                       NO2     m-Nitrobenzoic acid (A)  

                                                                                                       

                                                                                                       

           COOH                                                                                         COOH  

 

                                         

   𝐅𝐮𝐦𝐢𝐧𝐠.𝐇𝟐𝐒𝐎𝟒       
→                                                

                                                                                                                                     SO3H     m-Sulphobenzoic acid (B) 

45, What will be the product (X and A) for the 

following reaction? 

 
 

           

          O                                        OMgBr                              O 

                      CH3 MgBr                           H3O
+                                 acidic K2Cr2O7 

CH3 – C – Cl                      CH3 – C – Cl                     CH3 – C – CH3                              CH3 – COOH 

                                                                                    Acetone (X)                                  Acetic acid (A)      

                                                      CH3                          
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46, Complete the reaction 

 

 

 
                                                                  CH3   CH3 

                              Mg / Hg                                 

CH3 – CO –CH3                                          CH3 – C  –  C – CH3 

                                                                             

                                                                   OH   OH   2,3 dimethyl butane 2,3 – diol (B) 

                                                                                                   (pinacol) 

47, An organic compound (A) C3H8O3 used as a sweetening agent, which on oxidation with Fenton’s reagent gives a mixture of compounds B and C. 

Identify A,B and C.write possible reactions. 

                                       
A  Glycerol ;           B  Glyceraldehyde ;                          C  Dihydroxyacetone 

48, Compound ‘A’ of molecular formula C2H3N on reduction with Na-Hg / C2H5-OH gives ‘B’ of molecular formula C2H7N, which undergoes Carbyl 

amine test. Compound ‘ B’ on reduction with nitrous acid gives compound ‘C’ of molecular formula C2H6O by liberating nitrogen. Identify A, B and 

C. Write the reactions involved. 

(A)   C2H3N  CH3 – CN  ; B)   C2H7N  CH3 – CH2 – NH2     ; C)   C2H6O  CH3 – CH2 –OH 

          CH3 – CN 
   𝐍𝐚−𝐇𝐠 / 𝐂𝟐𝐇𝟓𝐎𝐇       
→                         CH3 – CH2 – NH2 

                 (A)                                                       (B)   

          CH3 – CH2 – NH2   

    𝐂𝐇𝐂𝐥𝟑  / 𝐊𝐎𝐇  
→              CH3 – CH2 – NC (Compound ‘B’ undergoes Carbyl amine test) 

                  (B)   

          CH3 – CH2 – NH2  
    𝐇𝐍𝐎𝟐    
→           CH3 – CH2 –OH 

                     (B)                                           (C)  

Compound Molecular Formula Name 

A CH3 – CN Methyl cyanide 

B CH3 – CH2 – NH2    Ethyl amine 

C CH3 – CH2 –OH Ethyl alcohol 
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49, An organic compound (A) of molecular formula C6H6 on reaction with propylene gives (B) in presence of H3PO4 at 5230K (B) on air oxidation gives 

(C) of molecular formula (C) of molecular formula C9H12O2. (C) on acidification with H2SO4 gives (D). Identify A,B,C and D. 

                                           
Compound Name 

A Benzene 

B Cumene 

C Cumine hydroperoxide 

D Phenol 
 

50, An Organic Compound C2H6O (A) heated with Con.H2SO4 at 443K to give an unsaturated hydrocarbon C2H4 (B), which on treatment with Bayer’s 

reagent to give Compound C2H6O2 (C). which is used as antifreeze in automobile radiator. Compound (C) distilled with Con.H2SO4 to give cyclic 

compound C4H8O (D). Compound (A) is heated with Con. H2SO4 at 413K to give compound C4H10O (E) . Identify Compounds (A) to (E) and write 

equations.                                                                                                                            

                   CH3 – CH2 – OH  +  H2SO4  

   443K    
→        CH2 = CH2   

   Alkaline KMnO4    
→                     OH –CH2 –CH2 – OH   

                    Ethylalcohol (A)                                  Ethylene (B)                                  Glycol (C) 

 

            CH2 – OH        Con H2SO4                                 CH2 – CH2  

      2                                                           O                              O           

           CH2 – OH                                                  CH2 – CH2                  1,4-dioxane (D) 

 

                  CH3 – CH2 – OH  +  H2SO4  

   413K    
→        CH3 – CH2 – O – CH2 – CH3  Diethyl ether (E)                           

 

 

V.SURESHKANNA 

                                                    G.H.S.S 

THIRUMANJOLAI  

                 SIVAGANGAI - DT                                                                    
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